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1. Hali Award is given by
(A) Haryana Punjabi Academy
(B) Haryana Urdu Academy
(C) Haryana Sanskrit Academy
(D) Haryana Hindi Academy

2. Who is literate as per the censys of India
20117
(A) A person aged seven and above who
can only read but cannot write
Apersonaged sevenand above whg
= both read and write with undarstandﬁg
in any language
(C) Aperson aged ten and above who can
both read and write with undars!anding
in any language
(D) None of the above

was established by Babar in
Haryana as memorial to the victory over
the throne of Hindustan when he defeated
Ibrahim Lodi in 1526.

(A) Shah Qalandar Mosque

(B) Kabuli Bagh

(C) Red Fort

(D) Peacock Throne

is responsible for the.normal
viscosity of synovial fluid, which-8erves to
lubricate the joints so that they move freely.
(A) Pleural fluid

(8) Pericardial fluid

(C) Hyaluronic acid

(D) Hydrochloric acid

Find the value of » in the following.
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6. Consider the following statements about
QuitIndia Movement and identify the wrong
statement.

(A) On 8™ August famous “Quit India”
resolution was moved by Jawaharlal
Nehru and passed by an overwhelming
majority.

(B) On 10" August Mahatma Gandhi,
Jawaharlal Nehry, Sardar Patel,
Rajendra Prasad were arrested.

(C) Gandhiji gave a call “Do or Die".

(D) There were the hartals and strikes in

factories, schools and colleges and
public demonstrations.

7. Whenthe velocity of an electron increases,
its de Broglie wavelength
(A) increases
(B) decreases
(C) remains same
(D) none of the above

8. is the major form found during

intrauterine life and at birth.
(A) HbA
(B) HbA,

(C) HbF g

(D) None of the above

9. has been accorded thé honor of
the 'Surya Kavi' of Haryanvi-music genres
Raagni and Saang.

(A) Surdas

(B) Kurmadas

(C) Lakhmi Chand
(D) None of the above

10. The germ-tube testis a simple rapid test
used to identify

(A) Streptococcuspyogens
(B) Staphylococcus aureus
(C) C. albicans
(D) Aspergillus
1. Determinants of antigenicity includes
(A) Size (B) Foreignness
(C) Chemical nature (D) All of the above
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42. Mohd. Ghazni attacked Thanesar of

13.

14.

15.

16.

17.

18.

19,

Haryana in
(A) 1054

(B) 1014
(D) 1492

-sheikh Chilli ka magbara’ is situated in
of Haryana.

e
(A) Agroha
(C) Hisar

(B) Sirsa

(D) Thanesar
Dark adaptation time is increased in
deficient individuals.
(A) Vitamin A

(C) Vitamin C

(B) Vitamin B
(D) Vitamin D

are @ means of describing
a file.
(A) Disks
(C) Properties

(B) Buttons
(D) Storages

surrounds the lungs and lines the
walls of the thoracic cavity.
(A) Pleural fluid (B) Peritoneal fluid

(C) Cerebrospinal fluid (D) Pericardial fluid-

Functions of platelets includes

(A) To react to injury of vessels by\ _
forming an aggregate plug ol'platelets
that can physically slow doiwh or stop
blood loss

(B) To help activate and participate in
plasma coagulation to serve more
effectively as a barrier to extensive
blood loss

(C) To maintain the endothelial lining of
the blood vessels

(D) All of the above

‘epresents the weight of Hb in the
average RBC.

(A) MCH
(C) MCV

(B) MCHC

(D) All of the above
In Haryana Panchkyla |T Park was
established in the year

:J EE{J«E (B) 2006

=) 2008 (D) 2005
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14.

18.
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18.

19.
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20.
21.

22.

23.

24,

25.

26.

27.

. (C) uncle

found in the body secretions such

as saliva, tears, sweat, milk and the walls
of intestine.

(A) IgA (B) IgM
(C) 1gD (D) IgE

If ¢ is the velocity of light, which of the
following is correct ?

(A) HoEp=C

(B) Hogp=C c?
4 1
(C) Mo€o= =

(D) Ho&o=
c

This festival celebrated on the third of the
bright moonlight nights in the month of
Sravana during the Monsoons in Haryana

(Ag Gugganaumi EB; Sanjhi
(C) Teej D) Govardhan Puja
Agents in the calegory are
not usually encountered in the routine
microbiology laboratory, that include certain
arboviruses arenaviruses, and cultures of
Mycaobacterium tuberculosis and certain
mold stages of systemic fungi.

(A) Blosafety Level 1

(B) Biosalety Level 2

(C) Biosafety Level 3
(D) Biosalety Level 4

Method of transmission of infection includes
(A) Inoculation (8) Inhalation
(C) Contact (D) All of the above

Gurugram district of Haryana derived its
name from the name of

(A) Dronacharya (B) Yobananda
(C) Gurumayi (D)™ luktananda

Ais the son of B. C, B's sister, has ason D

andD a daughter E. F is the maternal uncle
of D.

Howis Arelatedto D ?
(A) cousin (B; nephew
(D) brother

Hb derivative in which the iron
has been oxidized from the ferrous to the
ferric state and is therefore incapable of
combining reversibly with oxygen.

(A) Methemoglobin
(B) Carpboxyhemoglobin
(C) Sulfhemoglobin
(D) Cyanmethemoglobin

20.
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22.

23.

25.

26.
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28.

29,

30.

31.

32.

33.

34.

35.

The L chain in the immunoglobulin has a
molecular welght of approximately

(A) 5000 (B) 15000

(C) 25000 (D) 35000

In Haryana existence of mango groves atlests
its name to which of the following city ?
(A) Bhiwani (B) Ambala

“{C) Karnal (D) Panipat

The Gram stain method includes

(A) The primary stain crystal violet

(B) Gram iodine. which serves as a mordant
(C) Decolorization with an alcohol-acetona

solution
(D) All of the above

isa blue coloured copper-containing
a,-globulin with a molecular weight of
150,000.
(A) Transferrin
(B) Acute phase proteins
(C) Ceruloplasmin
(D) None of the above I

Rock Garden of Chandigarh was Tourded by
(A) Nek Chand Saini ’

(B) Albert Mayer

(C) Maciej Nowicki

(D) None of the above

Type of precipitation lest are
(A) Ring test (B) Slide test
(C) Tube test (D) All of the above

crystals are rare but may be present
as the result of inherited amino acid disorders
and together with leucine, in patienls with
massive liver failure.
(A) Cystine
(C) Hemosiderin
Find a number which when increased by
17 is equal to 60 times the reciprocal of the
number.

10

c) 77 o] 20

(B) Tyrosine
(D) Bilirubin
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36.

7.

38.

Cross-infections occurring In hospitals are
called

(C) Exogenous infections
(D) Endogenous infeclions

or rule out malignancy.

39.

40.

a1.

(A) 32
(C) 236

(A) Nosocomial infections
(B) latrogenic infections

are usually obtained to diagnose

(A) Brush smears

(B) Fine needle aspirates
(C) Serum blocks

(D) None of the above

is required one or both of two
accessory growth factors (X and V) present
in blood.

(A) E. coli (B) Klebsiella

(C) Haemophilus (D) All of the above

Some species or bacteria exhibit great
variation in the shape and size of individuals}:
cells known as

(A) Pleomerphism (B) Involution form
(C) Microcytes (D) None bitha above

L

According to Vayu Pura_n?.}wmc” of the
following place of Haryana is believed as
the birth place of Lord Hanuman ?

(A) Kamal (B) Hisar

(C) Kurukshetra (D) Kaithal

The Article under which High Courts have
powers to issue Orders and Wrils for the
protection of Fundamental and Other
Rights is

(B) 221

(D) 226

Rana Nimantrana, Guru Gobind Singh and
Yuddha Charita are the works of famous

aryanvi poet
Uday Bhanu Hans
Khushiram Sharma
Aycdnya Prasad Goyaliya

siram Sharma Dinesh
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43, Whichof the following river given belowis one

43.

a7.

48.

of the principal tributary of river Brahmaputra
n india?
(A) Puthiman
(C) Gandak

(B) Yamuna
(D) Mahananda

A book called “Satyartha Prakash" was
written by

(A) Raja Ram Mohan Roy

(B) Athmaram Panduranga
(C) Annie Besant

(D) Dayanand Saraswathj

The heavy soil found in Thanesar of
Haryana is known as
(A) Dabar
(C) Kaithal

(B) Nelii
(D) Khadar

Windows uses a clever technique to prevent

your computer's memary from ever becomina.
full : It creates

(A) Slave disk
(C) Virtual memory

(B) Register
(D) CECI{‘}_E_

urine is the prererrea type of
specimen for Culture and Sansitivity (C&S)
tesling because of the feduced incidence
of cellular and microbial contamination.
(A) Random Specimen
(B) Midstream Clean-Catch Specimen
(C) 24-Hour or Timed Specimen
(D) Catheter Collection Specimen

Functions of the carbohydrates include
[#4) They are the most abundant dietary
source of energy (4 Callg) for all

crganisms

(8] They are precursors for many organic
compounds (fats, amino acids)

(L =zmizipate in the structure of cell
memorane and cellular functions such

arowth, adhesion and fertilization

‘'z above
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49, Examples for late lactose fermenters is
(A) E. coli (B) Klebsiella

(C) Shigella sonnei (D) Salmonella

50. InHaryanaan artwork made from cow dung

and clay )
(A) Sanjhi (8) Mehandi
(C) Rangoli (D) All of the above

54. This district of Haryana is having least
amount of forest in terms of area
(A) Rewari (B) Fatehabad

(C) Gurugram (D) Jind

52. Bacteria are those that grow best in the
presence of a low oxygen tension is

(A) Thermophilic (B) Microaerophilic
(C) Mesophilic (D) Anaerobes

53. In the given figure, the triangle represents

girls, the square represents sports persons
and the circle represents coaches. The
portion in the figure which represents girls.
who are sports person but not coach'e_s\'ié*'

() B

(A) A
(C) C (D) D

54, was the longest serving Govemnor of
Haryana.

(A) Dharma Vira

(B) Birendra Narayan Chakraborty
(C) Ranijit Singh Narula

(D) Jaisukh Lal Hathi

55. enzymes that catalyse the transfer
of functional groups.
(A) Oxidoreductases (B) Transferases
{C) Hydrolases (D) Lyases
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57.

S8.

59.

60.

61.

62.
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The district of Haryana was carved out from
Kamal district on 1 November 1989, On
24 July 1991, it was again merged with Kamal
district. On 1 January 1992, it again became
a separate district. Which is that district ?
(A) Rohtak (B) Hisar
(C) Panipat (D) Kurukshetra

Virus particles consists of

(A) Aninner nucleic acid core that ma
consist of either DNA or RNA :

(B) Acapsid or protein coat that protects
and contains the nucleic acid

(C) Possibly an outer lipid layer or envelop
that surrounds the nucleocapsid '

(D) All of the above

Two different natural numbers are such that
their product is less than their sum. One of
the numbers must be

(A) 1
(C) 3

(B) 2
(D) None of these

Langmuir isotherm holds good at
(A) High pressure

(B) Low pressure

(C) High temperature

(D) Low temperature

A person crosses a 600 n? Ion? street in
n

5 minutes. What is his speed in km per
hour 7

(A) 3.6 (B; 7.2

(C) 8.4 (D) 10

built a palace in Narnaul who
was the Diwan of Mughal emperor,
Shahjahan.
(A) Birbal
(B) Rai Mukund Das
(C) Rai Madhav Das
(D) None of the above

Electrophoresis of serum proteins is

conveniently used for the diagnosis of
diseases.

(A) Multiple myeloma

(B) Acute infections

(C) Nephrotic syndrome

(D) All of the above
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mn

is known as “Mini Cuba” in India
to the large number of boxers who hail

f:;'n: e region.
AJ Bhiwani (S) Ambala
(C) Kamal (D) Palwal

Consider the following statements | and [l
about RAFALE fighter aircraft.
|. The Rafale aircraft was formally
iInducted into indian Air Force on
10™ September 2020.
Il. Rafale is an anti-ship and nuclear
deterrent fighter aircraft.
Choose the right option given below.
(A) Only the statement | is correct

(B) Only the sta ntllis correct

(C) Both the state mentsland Il are
correz!

(D) Both the statements | and Il are

incorrect

Nonmgatile proteus strains used in the
agglutination test are
(A) OX2
(C) OXK

(B) OX19
(D) Allof the abiove

act as an excretory ‘%%nnel for
metabolic products of CNS. -
(A) Blood
(B) Cerebrospinal fluid
(C)
(D) Plasma

[ L=
11 !’ﬂ:er

The State emblem of India is an adaptation

Ashoka at Sarnath
hmagin rcck edict of Ashoka
\an2ahar rock edict of Ashoka

12 man function of the isto

/ ©¥y32n to the cells of the body.
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(C) OXK (D) 37 aft

Hiueeg & 9= IRl F Rt
IS AT & T H F F@TE |
(A) &
(B) AfTTeFiT 39
(C) 5id
(D) AT

T 1 Ty famg el & forrman @ 7
(A) TTENY § 3797 ) Ty 5 fie
(B) 3rei= = F@hrdl Rreter@

(C) 39T % Fven Frarerd

(D) 3974 7 & FI§ T

T e w1 T S o
HTFHTT T R |

(A) RBC

(B) WBC

(C) izeiea

(D) 374 & & F1E 7




74.

~J4
L¥ )]

71. 'S complete hemolysis of the RBCs

72. Ifyouare eleventhin a queue starting either

70. The Arts and Cultural

g9. s astructure built in Chandigarh
by legendary architect, Le Corbusier,
(A) Close hanc monument
(8) Open hand MOnument
(C) Right hand monumeny
(D) Left hand monument

(TAACHT) has set up t
Partition Museum at Town Hall Amritsar
Punjab, India. Chairman of this fmsl s
(A) Kishwar Desai

(B) Preet Singh

(C) Sunita Jain

(D) None of the above

In the medium

I(Aj Alpha hemolysis (B) Beta hemolysis
(C) Gamma henbrystsm} All of the above

end, how many are there in the queue ?

(A) 11 (B) 20
(C) 21 (D) 22
73. are prepared by heal-fusingﬁﬁi’ély

powdered glass particles of graded sizes
which have low absorptive property.

(A) Sintered glass filters

(B) Candle filters

(C) Asbestos filters

(D) Membrane filters

Pre Harappans of the 3™ millennium B.C.
belenging to were skilled in pottery
with @ wide range of decoralive shapes and
crafts.

(A) Banawal

) Rohtak

Y Mithathal

None cf the above

oOooOm

=actznathatcan synthesize all their organic

nds are called

e~
ol

(8) Heterotrophs

69.

70.

71.

72

73.

74,

75.

hs (D) All of the above
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it angan, <6 Frfen gm
F20Tg & =TS S U A |

(A) s £2 w

(B) 3197 82 HITH

{c)tﬁzﬁgm

(D) &% &3 FITH

i ahi wwa e 772 (TAACHT) A faza 1
YR TS Huere 203 g, S1ga, G,
i 1 watfira fren R | ga g F s R

(A) iz 2urd

() ifa fire

(C) :ften A

(D) 3 7 & Frf 7

s e 4 S @5 g et
Z

(A) 1w Eifafim  (B) e miferfaa
C) T fmifafim (D) T mf '

afe el st 3 31 B @ oy 11 5 e
T &, A Far F Fet Rt cim 3 2

(A) 11 (B) 20

(C) 21 (D) 22
mmﬂmm:ﬁf
mmﬁa%wmmmgmm
maﬁ%ﬁ#ﬁwmﬁmm?ﬁﬁt
(A) foeha %t % freem

(B) Hrereht freerm

(C) T freerm

(D) Tereeht Rreem

B Fafr et w4y, o
wewrs falim v & v A
R 35 Y Wi A e @ |
(A) FTaTH
(B) T&
(C) Pramaet
(D) 37 & | =g T
5 s o ot e i T
A, Fgad © |
(A) TR (B) et
(C) WeRTHTIeN (D) 37 &t




76. Breeding Centre situated in Momi,Panchkula
distnct of Haryana is a purpose-built centre

for the breeding of
) Blue nealoeds (83) Chinkara
) Pheasants (D) Indian vulture

v7  Mmatis the effective nuciear charge felt by
-“‘:f.")"- -:" helium atom ?

(8) 1.80
(D) 1.60

#
y £

() 170

c O E ¢ and G are siting on a
i of them are facing east Cis
rr the immedate nght of D B is at the
axtreme end and has E as his neighbor.
G5 between £ anc £ Dis sitting third from
>

mmediatety tetween which of the following
ar5 of people s O sitting ?

C (B) AF

E (D) CF

thia SO tn enc

&)

-

.0'.]
(C)

O

79  An indert s the distance hatween a

_’l‘ "r-:'o an: :ara;-;-::n‘
5, E4ge of the page anc the text
) Page border anc margin

™ P » ] bl
D) Margin and the texi

The G may be asked 10 perf r@&tésks

. for ""’.'4': man one program. Tonake this
wors tne OS and the CPU create
A) Lines (B) Threads
C) Ropes (D) Strings
1. ___is excretion of an abnormally small
amcurt of unne, less than 500 mL/24 hours.
PziyLna (8) Ohguna
(D) Noctuna
g2 smatermusedtorepresentthe
“pranorana- of fats and oils resulting in an
Yig sanr! !aste
yCrChySI

-
T armmm e tym -
e wr it |
¥ ~ { vma sy
> e ,-_',":'.l'e
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78.

79.,

80.

81.

82.
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iferan T % 1s TEEA 2R I R
T ST O] ST R
(A) 1.70 (8) 1.80
(C) 1.50 (D) 1.60

A.B.C.D.E,Faﬁlewmm%ﬁéaﬂgm
anga'gaﬁmaﬁlsﬁr%ic.o%a%ﬁz@m?i
Bl-ﬁf?ﬁFmaaf%Jﬁuﬂ%WﬂE?I
G, E 3l F%diaff%ro.zﬁmaﬁa?ﬁai
AT ABR | . ¥
Dﬁwﬁ-ﬁﬂ i 4 fem EiE| .
(A) AC (B) AF

() CE (D) CF

3/ FdmAg@AT@E]

(A T 3CATTS
(B)&awﬁﬂmaﬁtm
(C)ﬁaaﬁ.‘w’nmﬁq

(D) wifA i &FR
vﬁrﬂqﬁ@émﬁmn’mwmﬁm@#
mwmmamm@m%m,
sig sl Edy _ FAE |

(A) TITEH (8) 9<H

(C) TrH (D) fem

U T 9 8 g ol aga A,
500 fi.&f. /24 52 § FH gl
(A) gieirgfen (8) Affemgfean
(C) uAf (D) Ayl
71z aEsil i e F @uE g
A7 qfroT T U U 1 9gen & ol
7 A e |
(A) FET AT
(8) faga i
(C) FTFAF
(D) 7 & 8 1S T




English Language

Direction Q. No. 83 and 84 $

Fill in the blanks with a suitable word from among
the alternatives given below it.

83. The plane flew the house.
(A) in
(B) over
(C) on
(D) besides
84. She cleaned the dishes | was
sleeping,
(A) till (B) while
(C) but (D) for

in the following Question, out of the four
alternatives, choose the one which can be

substituted for the given words/sentence.
85. A personwho wastes his money
(A) Cheese-paring

(B) Stingy

(C) Luxurious

(D) Extravagant

\C
on Ig\qu

Read each sentence to find out whether there
is any grammatical or idiomatic error in it. The
error, if any will be in one part of the sentence,
the letter of that part is the answer.

86. To curbing the spread of violence/authorities

(A) (B)
brought under curfew/more areas in the
(C)
state, where/three youths were killed.

(D)

| 89.

87.

15/2019 (2)
&=t wman

‘a’ qui-=H F HRA-B I H AR 7
(r) F-a
(B) -7
(C) g-ani
(D) W-am

M- it B ereR 61 oved
(A) HFrmm B

(B) e B

(C). s S

il
(D) 3 1 e W

- T R 7
(A) ol

(B) wfersft

(C) el

(D) et

90. Yt o arefis AR ?

(A) Sery fay
(B) argea firw
(C) a1 qry
(D) ¥ B =1 i

14.



